-

MAN&MACHINE ®
ELEMENTS

Control Mechanism with Adjustable Spindle (IR EEYeRt

LCP/LCV avbrO—ixh=ZL

=
R
X g
Y
E=Y

GN727
CAD DATA
down load
n
LCP N
H | Y
w T L)
< T -
o — e
@ HH-
A
s (WO = |1 :WEIE= o .
N\ = 2 ® SR UERERYDIFBIET. YAV/OXA—2EEAHDIEREL ,RQ
/\ \/ 4 | GI L MIBEHIAEETT,
- - @ 2IEFEDOEY) Dt Fa & B, n
© Lo LcP FiTaAT I_:\
LCV LCV BEEI(T
r— *(7 [ ] @ﬁﬁﬂ(iﬂé#ﬁb‘ﬁﬁﬁﬁfﬁﬁ'(?} £
A\ coLls [R]— &E&HTHM 2
{ N\ o e _ =<
@g/ ) - + & HHHE = —— ZEE&THM
I 1 ° o BEIE QI\
L LCP-27|[LCV-27 10mm X
o 5 15mm <
C
o ® KIRSMERE0.02mm .
[P —— o HME- -tk El
PV PEY
" vl A5 1S15C, =i 0 A—MLIE
N = JT PRI LAE. TV MLE (F) o
b [~
N NTHNR—RITHRE—IV (SARTL—) i
8 - bE—1— 1 &= @
——arr ), Ll 5
—< . N *
. SEXICHE-T (H14:005BEE ¢ | EXAHE Eq
M. Lf ? ) Q"lr\\
BEE h he WISE EErmscEEdrEan,
A
LCP-27-R A
=aN=EY D [E&AM ,'1
AHZX L 2
IS
. J X
(EiT5147) unit:mm \|:|I
Catalog Number  |Price(Yen) Mass }2
% it D | M1 M2 H T W | Di | Et |Lc | Ci | C | Lf | h h2 | o d2 | ds | HE
(M) (g)
LCP-27 22,800 | 27 | M6 |[M12X1| 54 10 20 38 28 | 45| 8 43 |195|375| 43 | 64 | 18 16 103 Er{
LCP-34 24,300 | 34 | M8 |M16X1| 67 11 25 50 36 | 55| 95 | 53 [235|455| 42 | 85 | 23 19 206 gﬂ
H
(EES17Y) unit:mm ~
Catalog Number  |Price (Yen) Mass i
i it D | M1 M2 H T W | Di | E2 | Lc | C1 | C | Lf | h h2 | o1 d2 | ds | HE 1N
(M) (g) X
LCV-27 22,400 | 27 | M6 |[M12X1| 54 10 20 38 22 | 45| 8 43 |195|375| 43 | 64 | 18 16 103 =
LCV-34 24,000 | 34 | M8 [M16X1| 67 11 25 50 30 | 55| 95 | 53 |235|455| 42 | 85| 23 19 206 ﬁg
=$3)
e
e
<
w
[m]
z
‘ U543y 7 -CADTF—FDF U v0—R - RFEREIE5H5 NBKk—L~X—Y  http://www.nbk 1560.com/ 111




